SN SEYAD
Ha: JIEMEY NS L OF SHB IY PE(SANYLN/5Y - 5E)
Sl JtEe =2 CEERT
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
e 23,477,261 23,181, 159 296,102
2 11,797,678
2 300,000
J| 3,180,177
= 8,199,406
IIEWEE IS L UM HUE Y RE(SHY S 23,293,829 22,890,047 403,782
LR
2 11,797,678
2 300,000
I 3,180,177
= 8,015,974
s =7 20,916,673 19,234,489 1,682, 184
2 11,563,598
ol 2,504,777
= 6,758,298
IIEEY oY L AWAE FY S NA(ID) 6,152, 141 6,417,038 264,897
2 5,211,767
= 940,374
308 XHXIEHH S0/ ® 6,152, 141 6,417,038 264,897
2 5,211,767
= 940,374
B EYEREES 6. 152, 141 6,417,038 264,897
OJNSEY oY L A %E Y S X 6,152,141
= 5,211,767
= 940,374
SR U B AAFE S NW(2D) 20,000 80,000 60,000
2 20,000
403 XX SHAI S XH2 01 & 20,000 80000 60,000
2 20,000
01 XS H A= E X 20,000 80,000 60,000
oY, BY AT S N 20,000
2 20,000
IIESMBATEER WX oAH NV(ID) 1,826,200 1,794,000 32,200
ol 1,095,700
= 730,500
307 21201 & 1,826,200 1,794,000 32,200
I 1,095,700
= 730,500
02 BIABMANYEE 1,826,200 1,794,000 32,200
OIS AA Q1A 1,826,200
ol 1,095,700
= 730,500
OCTV S grefolmat &% MA(21D) 309,360 376,800 A67,440
I 257,800
= 51,560
403 XX S H S X2 0l & 309,360 376,800 67,440

- 647 -




SN SSYeD
HM: JI=NEEH HAG L oW EAZ I E(sEHHYFM/sH - =)
CHol: D EY e XX (et ae
2 5 4 14
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
J| 257,800
= 51,560
01 AXSHMA=2E X 309,360 376,800 ANB7,440
OCCTV & X = 309,360
J| 257,800
= 51,560
SSRIAEAY ZHNA(2D) 47,040 47,040 0
= 38,400
== 8,640
308 XX EM SO0l & 47,040 47,040 0
= 38,400
== 8,640
01 XS HIBAABEEXS 47,040 47,040 0
Os=222AZ Y S 47,040
= 38,400
= 8,640
AE BAZS(21) 3,375,000 1,075,000 2,300,000
= 3,000,000
= 375,000
308 XX SHHMSOIA 3,375,000 1,075,000 2,300,000
= 3,000,000
= 375,000
01 AIXSHMBAEXZ 3,375,000 1,075,000 2,300,000
OAMME 242 3,375,000
= 3,000,000
== 375,000
FEAMHE NHAOIEHESX B2l - £42)(2D) 174,000 290,000 116,000
=2 120,000
c 54,000
308 XX EM SO0l & 174,000 290,000 A 116,000
= 120,000
= 54,000
01 AIXSHHMABAABEEXZ 174,000 290,000 A 116,000
OJIsM=X 22| - AE 174,000
= 120,000
= 54,000
=AM A K OFSHAMM =AMl X)) (=2 127,400 132,600 N5,200
2)
= 98,000
= 29,400
403 XX SHHS K201 ™ 127,400 0 127,400
= 98,000
= 29,400
01 RXSHHA=2E X 127,400 0 127,400
OJIESHAM =24Xeldl X& 127,400
= 98,000
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SN S2YD
M JIENGY HEH L OF M2 IIY PE(SYHYSM/SY - 5E)
ol JtEgS 27 T
SN -EB .S (SH) - NEAY - BES O &k 2 b HZE2
| & 29,400
DNEAMMAEE X (OFSHAM =M NH)(=1) 258,700 276,900 A 18,200
= 199,000
== 59,700
403 XX SHHE X201 A 258,700 0 258,700
= 199,000
== 59,700
01 AXSHHMA=2E X 258,700 0 258,700
OJISHALM =18 K& 258,700
= 199,000
== 59,700
THE g X(=213) 3,323,126 3,407,137 N84,011
= 2,876,431
== 446,695
308 AHXISHHMSO0IA 3,323,126 3,407,137 A84,011
= 2,876,431
== 446,695
01 XM IAEES 3,323,126 3,407,137 NB84,011
O7ME HUYEES S 3,323,126
= 2,876,431
== 446,695
2SEMY 29 (=21) 1,489,532 1,450,937 38,595
J| 1,241,277
== 248,255
308 XX SHHMSO0lIA 1,489,532 1,450,937 38,595
J| 1,241,277
== 248,255
01 AIXSHMEBAEXZ 1,489,532 1,450,937 38,595
OSSN 29 1,489,532
J| 1,241,277
c 248,255
St AL E A=52A4EF A& 52,920 75,600 A 22,680
308 XX EHMSO0IA 52,920 75,600 A 22,680
01 AIXSHMBAAEXZS 52,920 75,600 A 22,680
OsIt AHYAE A524F XA 52,920
ASF, HPAI, FMD & A& MAH 5 505,000 505,000 0
202 (4] 5,000 5,000 0
01 2W ol 5,000 5,000 0
OMANYAEXNA 25 =& 5,000
206 M= Hl 500,000 500,000 0
01 = dl 500,000 500,000 0
OASF, HPAI, FMD M AIZS A 2= 500,000
S=299 - SNME/AMNUN - SEEZS HSsE ML 10,700 25,500 A 14,800
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SN S2YD
M JlEMEY HES U OF SUE JY PE(SUHSLM/S - SE)
el sy 27 (ehsl:&2)
SN BB S (SA) - MM - BES Ofl &b b Bl REZ
201 g2l 10,700 25,500 A 14,800
01 At 22l tl 10,700 25,500 A 14,800
O MBA 29, Yo B N S 10,700
HE - SH - IHEA A8 2EXE 2,044,178 2,044,178 0
202 o4l 5,000 5,000 0
01 =LA 8l 5,000 5,000 0
OJsgd g2 =& 5,000
308 UXIEHSOIA 2,039,178 2,039,178 0
O1 IXSHBHEEXS 2,039,178 2,039,178 0
oxced A4 2HXE 2,039,178
=sdE 2 uEEs XN 91,200 91,200 0
308 AUXIEHSOIA 91,200 91,200 0
01 AXEHBAEXS 91,200 91,200 0
oX=dz ¢ HEEEs XA 91,200
t=dgy 29 2X3 & 200,775 76,975 123,800
308 A EHSOIA 200,775 76,975 123,800
01 HXESHHILAEXS 200,775 76,975 123,800
OJ=sdgYE g 22X K& 200,775
9 =& & 208,800 104,800 104,000
308 XXM SO0l & 208,800 104,800 104,000
01 HXESHBILAEXS 208,800 104,800 104,000
oz+=2 =& A& 208,800
S22 gAML 2= 36,300 104,400 268,100
308 UXIEHSOIA 36,300 104,400 268,100
O1 IXESHBHEXS 36,300 104,400 A 68,100
OJ=2E HEANAE 2= 36,300
OrM=Z2 JI0 M X& 69,300 97,020 AN27,720
308 AXEHHMSOIA 69,300 97,020 AN27,720
01 AXEHBAEEES 69,300 97,020 A27,720
O0tMsE IOl M XA 69,300
=&Y By 25t 61,080 241,800 A 180,720
308 X EHSOIA 61,080 241,800 A 180,720
01 HXESHBILAEEXS 61,080 241,800 A 180,720
OJ=ZYg oy 23 61,080
SEE A5 Y YAAMNE X 53,571 97,629 A 44,058
403 XSS AH201H 53,571 97,629 A 44,058
01 RXEHA2E = 53,571 97,629 A 44,058
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SN S22
HE: JIEFYY HHG L 0N SN2 I8 AE(SYHLSN/5Y - 5F)
S JiEYY =X (&5 &8
SH-BH S (BAH) - HRAMY - BLS 01l &k o e SimE=E"
OXEE 45 ¥ 24 A& A& 53,571
SAASE HAM Hel 2 8,568 49,245 140,677
308 XX EHAISOIA 8,568 12,285 ~3,717
P EP RS 8,568 12,285 ~3,717
OEZASE HAM Hel RS 8,568
A MY=It PHY WAZE AzH X 225,000 225,000 0
308 XX & X SOl & 225,000 225,000 0
01 HXSHBAEES 225,000 225,000 0
04 WPSIt BHY HAFS A&t XN 225,000
AHMY WASH EHE ML 26,900 26,900 0
202 01 6,800 6,800 0
01 =LHoi bl 6,800 6,800 0
OTHY S e =7 6,800
308 XX EHAISOIA 10,500 10,500 0
P E RS 10,500 10,500 0
OTRMS HAFE L3} 10,500
403 XS HS K20l & 9,600 9,600 0
01 XEXIEHAI Rt = 2 = 9,600 9,600 0
OTRMS HAFE 23} 9,600
A 50 Byl N 29,742 34,050 £ 4,308
308 XX H SOl & 29,742 34,050 £ 4,308
01 HXSHBAEES 29,742 34,050 A 4,308
02 =0t By XY 29,742
B2 SOHX 487 HASAH N 25,000 25,000 0
308 XX £ X SOl & 25,000 25,000 0
P E RS 25,000 25,000 0
OBOIX 430 HASAH X 25,000
RASI ADE BY HO A2E 7S 22,500 22,500 0
403 X SHS K201 ™ 22,500 22,500 0
01 XEXIEHAHI Rt = 2 = 22,500 22,500 0
OXRASIL ADE BY A0 A2 RS 22,500
AESIH SEAI0L N 30,240 30,240 0
403 X SH S0 ™ 30,240 30,240 0
01 X SHH X =2 X 30,240 30,240 0
OYESIt ettt X 30,240
SOA 4TS XY 10,000 10,000 0
307 212+0| ® 10,000 10,000 0
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2N sS2L9
A JIEAEY FAEG L N =UNE I E(sHlYSN/sY - 58)
el Btds=2 25 - 2l (cte: &
- _ ShE]
SN BB S (SA) - MM - BES Ofl &b e Bl REZ
RI -RASS X - EBS HEg N (=Z1D) 61,404 33,558 27,846
= 36,120
= 25,284
308 AtXI S SO0l A™ 61,404 33,558 27,846
= 36,120
= 25,284
01 AXESHMBAEXEZ 61,404 33,558 27,846
ORI -mEes2 -2 HE A 61,404
= 36,120
= 25,284
20240 4% =4 N (=21) 214,632 55,044 159,588
= 97,560
& 117,072
308 AHXI & A S0l A 214,632 55,044 159,588
= 97,560
& 117,072
01 XS MBAEEZ 214,632 55,044 159,588
020240l SHst+==Hl XN 214,632
= 97,560
c 117,072
Bt S22 T2 EAMY (=1) 510,000 0 510,000
iy 300,000
& 210,000
403 XXX S K201 & 510,000 0 510,000
rag 300,000
& 210,000
01 MXISHA2E xR 510,000 0 510,000
Os2254H &XXA 510,000
s 300,000
= 210,000
AQIANRA S48z N (21) 164,000 0 164,000
= 80,000
= 84,000
308 AHXl & xS0l & 164,000 0 164,000
= 80,000
T 84,000
01 AXESHMBAEXEZ 164,000 0 164,000
OAAMNEA L= XN 164,000
= 80,000
= 84,000
Bl SE MUSH(HEAY) 51,000 0 51,000
403 AXISHHMS K201 51,000 0 51,000
01 IXISHA=2E X 51,000 0 51,000
Ot =EE =0/ X4 (Mg 51,000
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SN S2YD
HE: JISHEY HIS L UF FUB IY IH(SHYLM/SY - 5&)
ool PES 25 - 22 CEEREE
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"
s25 22l - Hel N 153,700 143,800 9,900
202 01t 6,800 6,800 0
01 =LhoTHl 6,800 6,800 0
CEEL eSS 6,800
308 XX A S0/ ™ 146,900 137,000 9,900
01 X SHBLRES 146,900 137,000 9,900
Os223s - &l - Ml X& 146,900
S29s5 =27 A& T8 21,000 21,000 0
403 TIXISHH S X2 0| 21,000 21,000 0
B ETES 21,000 21,000 0
08225 =X A& X 21,000
H&3 BIAS2 28 X4 2,000 2,000 0
201 et Y| 2,000 2,000 0
01 AL el bl 2,000 2,000 0
0ER2 M= S 2,000
BN SN HEY B 1,180,700 1,122,800 57,900
2 6,000
p] 585,400
= 589,300
Z4H2 HACCP AAEE (2 D) 82,800 82,800 0
I 72,000
= 10,800
308 XX S S0l 82,800 82,800 0
ol 72,000
= 10,800
Y EREES 82,800 82,800 0
OZ42 HACCP 24 E TR 82,800
ol 72,000
= 10,800
RXSH HHSHSAMTALY SH2Y(2D) 12,000 12,000 0
2 6,000
= 6,000
301 LB A 12,000 12,000 0
2 6,000
= 6,000
12 JIEH2 &3 12,000 12,000 0
ORXSH THUSMNSAMLAR 2H2Y 12,000
2 6,000
= 6,000
SEAMNE AAH NA(2D) 855,700 791,000 64,700
ol 513,400
= 342,300
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A==
J

X ZH -
S =

@R FAE Y-

2 5 4 14
SN EAEA) - MEAY - BES 0l &k o e SmEET
307 glz2tol & 855,700 791,000 64,700
J| 513,400
= 342,300
02 QIZHE &AL E = 855,700 791,000 64,700
OT=Z AL 124l 855,700
J| 513,400
= 342,300
S4Ms0 & A HE HACCP XI& 74,200 75,000 A 800
202 o4l 6,000 6,800 A 800
01 =LA Bl 6,000 6,800 A 800
OHACCPAI & SRF& 6,000
308 UXIEHSOIA 11,800 11,800 0
01 IXESHBHEXS 11,800 11,800 0
AT HACCP &8 K& 11,800
403 AXIHMSA=20lA 56,400 56,400 0
01 XX EHX A2 2= 56,400 56,400 0
OHACCP AlE - EHI & XI¥ 56,400
SMSTHT AL e XA 156,000 162,000 26,000
403 X SHH S0l H 156,000 162,000 A 6,000
01 RXISHA X2 2 = 156,000 162,000 A6,000
OFM=H/YY AL M X& 156,000
HE 2L I (SSLAW)(IIEH/IIEH 33,432 33,432 0
JlE2&dl 33,432 33,432 0
FHMEE JI2ZHl 33,432 33,432 0
201 Lt Y| 23,676 23,676 0
01 At 22l 23,676 23,676 0
ORAM2E MRl 23,676
202 044l 6,156 6,156 0
01 =LA I 6,156 6,156 0
EA2E 22U 6,156
203 YR =&l 3,600 3,600 0
04 FN2EHRFTH| 3,600 3,600 0
©202! Ol at 300,000& »12& 3,600
H2as(ssddl)(sgddsd/sg - s&) 150,000 257,680 A 107,680
WHEHHX= 150,000 257,680 A 107,680
SSYY A Y 150,000 257,680 A 107,680
705 ==&l 3aE 150,000 257,680 A 107,680
04 Al - EXAME IS0 === 0| Rtk 150,000 257,680 A 107,680
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